HOMEWORK ASSIGNMENT #6 ORGANIC CHEMISTRY II

ring substitutions and naming aromatics 

Due Tuesday 1 April in Lab
Your name:__________answers___________________________________   (28 points total)

7.1 One Step Dancing  ( 4 pts total/2 pts each)

Suggest a one step reaction that will result in the compound on the right
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Any two substituents on ring can be starter since all three

Are meta directors

7.2
Two Step Dancing ( 6 pts/3 pts each)

Suggest a two step set of reactions that result in the compound on the right
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7.3.
Predictable Dancing 5 pts 
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What most likely forms in the reactions below ?
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Which reaction is likely to be easier to run and why ? (1 pt
___/15 Reaction 7.3a more likely since one group is activating (NH2) and one group is de-activating (NO2) so the net effect is a null and substitution occurs about at the rate of simple benzene. Both substituents in 6.3. b are deactivating so substitution is great diminished kinetically vs. benzene.

7.4 
Modern Dancing ( 9 pts total/3 pts each)
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Starting from alcohols with 4 or fewer carbons, acetone, and benzene or phenol, suggest a synthetic route to the compounds below



[image: image16.emf]O


H


H


2


SO


4


Cl


2


dry CCl


4


Cl


Cl


C


2


H


4


Cl


2


 from above


AlCl


3


2


NBS


KOH 


ethanol


Cl


2


wet CCl


4




OH

H

2

SO

4

Cl

2

dry CCl

4

Cl

Cl

C

2

H

4

Cl

2

 from above

AlCl

3

2

NBSKOH 

ethanol

Cl

2

wet CCl

4


[image: image17.wmf]Cl

Br









NCS
[image: image18.wmf]
7.5 
Getting his/her name after the dance ( 1 pt each/4 pts total)
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1-bromo-4-(2-chloro-3-methylpentyl)benzene
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IUPAC name







O-xylene  (1,2-dimethylbenzene)





IUPAC or common






3 –or- m-methyl benzoic acid






IUPAC or common 







Biphenyl or phenyl benzene
IUPAC or common
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�





� EMBED ACD.ChemSketch.20 ���





�





� EMBED ACD.ChemSketch.20 ���





�








� EMBED ACD.ChemSketch.20 ���





� EMBED ACD.ChemSketch.20 ���





� EMBED ACD.ChemSketch.20 ���





� EMBED ACD.ChemSketch.20 ���





� EMBED ACD.ChemSketch.20 ���





� EMBED ACD.ChemSketch.20 ���





�





�





�





�





�





� EMBED ACD.ChemSketch.20  ���





� EMBED ACD.ChemSketch.20  ���





� EMBED ACD.ChemSketch.20  ���





� EMBED ACD.ChemSketch.20  ���








_1424871346

_1426576587

_1426576590

_1426576592

_1426576589

_1426576586

_1424871347

_1268839808

_1392665634

_1424871345

_1268839861

_1268839773

